RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - May)

RESOLUTION NO. <u>04-172</u>

1	WHEREAS,	the Tohono	O'odham Council has reviewed the recommendations of the					
2		Enrollment Committee in accordance with Section I of Article VIII of the						
3		Enrollment Ordinance, Ordinance No. 05-81, and has made a final determination						
4		that the application of the following applicant for membership in the Tohono						
5		O'odham Nation be approved:						
6		ARTICLE II - MEMBERSHIP						
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
8		2022 7 22						
9 10		3931-B-04	LUCERO, Bradi E.					
11		2100 CV 04	OCIDE Limette India					
12		3190-CK-04 3191-CK-04	OSIFE, Lizette Julia					
13		3191-CK-04 3192-CK-04	JOSE, Robyn Lauren					
14		3132-CA-04	JOHNSON, Nahshon M.					
15		3654-GA-04	GARCIA, Tisha Marie					
16		3655-GA-04	MORISTO, Roderick L.					
17		3656-GA-04	FRANCISCO, Noreen A.					
18		3657-GA-04	REYES, Christopher R.					
19		3037-GA-04	Rifls, Christopher R.					
20		2420-GV-04	GLENN, Steven A.					
21		2421-GV-04	GLENN, Michelle R.					
22		2422-GV-04	GLENN, Michael J.J.					
23		2423-GV-04	MONTANA, Landon K.					
24		2424-GV-04	CIPRIANO, Amy Rose					
25			•					
26		2125-H-04	ANICA, Desiree L.					
27		2126-Н-04	GARCIA, Hope E.					
28		2127-H-04	GARCIA, DeAngela A.					
29								
30		2183-P-04	GARCIA, Aries P.P.					
31		2184-P-04	DEPINET, Alannah M.S.					
32								
33		2170-GB-04	ESPINOZA, Angel R.					
34		2172-GB-04	OLGUIN, Angelita D.U.					
35								
36		2353-SX-04	MORRILLO, Johnny A., Jr.					
37		2357-SX-04	VASQUEZ, Keenan M.					
38		2358-SX-04	ESCALANTE, Elston C., Jr.					
39 40		1070 CM 04	DAMON Angele Ann					
41		1870-ST-04	RAMON, Angela Ann					
42		5062-S-04	EMERSON, Emeray N.					
43		5062-5-0 4 5068-S-04	PADILLA, Elizabeth A.					
44		5069-S-04	VAQUERA, Angel J.					
45		5071-S-04	SEGUNDO, Leander J.					
46			one of the manual j.					
47		2396-SO-04	JOSE, Brandon L.					
	I							

	RESOLUTION NO. <u>04-172</u> (Enrollment - May)						
	Page 2 of 3						
1	ARTICLE II - MEMBERSHIP						
2	SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
2 3	· · · · · · · · · · · · · · · · · · ·						
4	8102-ND-04 ORTIZ, Isabeth G.						
5	8103-ND-04 ALVAREZ, Bertha						
6	8104-ND-04 LOPEZ, Christina M.						
7 8	8105-ND-04 MANZO-VELASCO, Estefani 8106-ND-04 GONZALES, Ramona						
9	8106-ND-04 GONZALES, Ramona 8107-ND-04 LOPEZ-BELTRAN, Zenia L.						
10	8108-ND-04 LOPEZ-GOMEZ, German						
11	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant						
12 13	is eligible for enrollment as a member of the Tohono O'odham Nation under Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation,						
14	and that their application is approved, as herein above indicated.						
15	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono						
16	O'odham Nation reduce this final determination in writing regarding each of the						
17	foregoing applications for enrollment in accordance with Section 1(a) of Article						
18	XIII of the Enrollment Ordinance; give notice of this Council's determination in						
19	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place						
20	the names of each applicant upon the membership roll of the Tohono O'odham						
21	Nation in accordance with Sections 2 and 3 of Article X of the Enrollment Ordinance.						
22							
23	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>03rd.</u> Day						
24 25	of MAY 2004 at a meeting at which a quorum was present with a vote of 2,629.7 FOR; -0- AGAINST;						
25 26	<u>-0-</u> NOT VOTING; and <u>[03]</u> ABSENT, pursuant to the powers vested in the Council by Section 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation,						
2 7	adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy						
28	Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the						
29	Act of June 18, 1934 (48 Stat. 984).						
30							
31	TOHONO O'ODHAN LEGISLATIVE COUNCIL						
32							
33							
34	Ișidro Lopez, Legislative Chairman						
35	, the A						
36	Way, 2004						
37							
38	ATTEST:						
39	Jum Inte						
40							
41	Lucille Lopez, Acting Legislative Secretary						
42	12 Maria						
43	day of May, 2004.						

Page 3 of 3 Said Resolution was subm	litted for annroyal to the office of the Chairmann as the m
D'Odham Nation on the	nitted for approval to the office of the Chairwoman of the To
oursuant to the provisions o	f Section 5 of Article VII of the Constitution and will become eff
ipon his approval or upon	his failure to either approve or disapprove it within 48 ho
submittal.	
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	TO SOLUTION OF THE COUNCIL
	Isidro Lopez, legislative Chairman
] APPROVED	at 10:40 o'clock, a.m.
] DISAPPROVED	at 10.40 o'clock, ω .M.
	/ MIMIANANAN DILINADON
	VIVIAN JUAN-SAUNDERS, Chairwoman
	TOHONO O'ODHAM NATION
Returned to the Legislative S	Secretary on the// day of
, 2004,	at <u>3:11 </u>
Junio Gals	
ucille Lopez, Acting Legisla	
_ / 0	-

ACTION: ENROLLMENT - MAY

MOVED: COUNCILWOMAN FRANCES ANTONE SECOND: COUNCILWOMAN EVELYN JUAN

DATE: MAY 03, 2004

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 192.6	1. ISIDRO LOPEZ (Nicholas Jose)	96.30	X			
1,2.0	2. DARLENE ANDREW (Rita Martinez)	96.30	X			x
SELLS	1. DENNIS E. JOSE	232.80	X			
465.6	2. EVELYN JUAN	232.80	x			
SCHUK TOAK	1. FRANCES B. CONDE	88.05	X			į
176.1	2. PHYLLIS JUAN	88.05	X			
SAN XAVIER	FELICIA NUÑEZ (Olivia Villegas-Liston)	107.70	X		-	
215.4	2. DENNIS RAMON (Eleanor Hunter)	107.70	x			x
SAN LUCY	1. JOHN W. LAWSON, SR.	83.15	X			X
166.3	2. GLORIA RAMIREZ	83.15	x			
PISINEMO	1. BARBARA SALVICIO	87.70	X			
175.4	2. PATRICIA CRUZ	87.70	x			
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	85.15	X			
170.3	2. SANDRA ORTEGA	85.15	X			
GU VO	1. RAYMOND VICTOR	95.70	X			
191.4	2. MICHAEL FLORES ** (Willard Manuel)	95.70	X			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	126.80	X			
253.6	(Jonas Robles) 2. JEROME JOAQUIN (Roberta Picard)	126.80	X			
CHUKUT KUK	1. KENNETH WILLIAMS	129.45	X			
258.9	(Juanita Homer) 2. VERLON M. JOSE (David Garcia)	129.45	X			
BABOQUIVARI	1. FRANCES MIGUEL	182.05	X			
364.1	(Lucilda Norris-Valenzuela) 2. FRANCES G. ANTONE ()	182. 05	X			
	TOTAL	2,629.7	2,629.7	-0-	-0-	[03]

^{**}PASSED VOTES